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BESD HI5D)

ZIEW f(x) = (x> +2x—3)° - EHENEEIES o BREREIE b FNEREFA ¢ KEH
(a,b,c)?

(A)(243,0,-1024)  (B)(—243,0,-1024)  (C)(243,512,-512)
(D) (—243,512,-512) (E)(—243,-512,512)
. NI RS E) B R EFE I RES <
(A) fix) = —3x (B) f2(x) = x? O fs(x)=2°+1
D) filx) =—x3+2x+1 (E)f5(x) =x3+2x2

B f(x) RERM=RNIBIRI » & f(x) UBRE x #ZHR A(-2,0) +B(4,0) +C(10,0) =% B
P(12,1) EBRE L @ BIARER f(2x) <0 BIREA ©

A)-1<x<2Fx>5 B)-2<x<4FPx>10 (O)—4<x<8Fx>20
Dx<-172<x<5 E)x<-4F8<x<20

= BEE (SESH HUD 8-5-2-0)
()L TBURER () = (x—4)7 = 2(x — 4)° + 1 GO - BRESRIBIER ©
(A) () RETEDLR (4,1) EBHTEER
(B) 6 9() = x* — 20 NBIATETIS 4 8l + {2 LFR | B8+ B () DS
(C) T8 %, (48 (o) = 2023
() Bt £(x) = 0 FRBR
(B) BIRS 00 THUR (x - 5) BHR
B 00 BRI (3% - 2) B9ERR 0() - BB -+ TIIBISRIBIER ©
(M) () BB (x - 3) BOBEL 5 Q)

(B) () BREL (x — =) B9 =

3

© F(3) BB (x - 2) 80835
(D) x+ F(x) BB (3x — 2) BORIZA x - Q%)
() x - £(x) BRI (3x - 2) B0 =

. BR=RRH y =alx—h)*+p(x—h)+ k IBERNE © TIHMEERES ? \/\
(A)a B)p (©) A (D) k

(E) “RRH y = ax® + px + k BIZOIEREZ » 21R 0

AFSE (B8 52 #507)
fl) =—6x?—24x+2> Hp -3<x <3 K f(x) IRKER
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2. B HRIBAELEFELSZE RN f(x) WBEEFERRE - MIFRBEERR - S ANUERER A(-2,0)
—/\BFR - BAEHREI B(10,24) - BFHB 20 DE - WBAMUBLER °

3. K125x3°—-270x3*—315x33+210%x32+70x3—-77 2EH

4. WMEAFA mx® + (2m+ Dx+ (m+2) <0 HWABESH IRBHE - QIS OHRER

5. BRSO (x—1)* 8RN A2x -3 B ) BRM (x —2)* 898RN A —x + 1 -
1) £ BRBA (x = 1)(x — 2) BIERAR
(2) O BRBA (x = 1)(x — 2)? BERTR

6. AEHXN (x—-1)"%(x*-8x+5) <0 LTS

7. BRH=AREEREOEBDNAE (-1,4) ' BEPEREE x = 0 EAOBASELRER y = 7x + 5 » KL=
REB Ay =f(x) = .
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8. RIFRAEB—MEMHIW - BEEBAEH 20T - ENEEBEIR o 7l - BXIEL (350 -10a) 4 - 5
ERFBZEFXRYUZIERFFE 500 7T - FEERE « HEEFTSTH °

9. BRSO R BEERBE-RZBREN ' EAEFX f(2x+1)>00ER -1<x<3 > A f)<0ZER

M. 5EE (F1145)

1. BBEI () =2x3-6x>+9x+5
(1) K f()BRM (x —2) BUERTN - (3 23)
@ Bfx)=al(x—2)2¥+b(x—-2)+c(x—2)+d>Ka b ~c dzE-(445)
(3) B8 f(1.999) EBAMUERIN\REE =1L - (4 )
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(O)E)

(B)(D)(E)

7.

3x3+9x%2+7x+5
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